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QUESTION 1

What kind of information can a Dynamic Host Configuration Protocol (DHCP) client receive?
A. MAC address of the default gateway.

B. IP addresses of other DHCP clients.

C. IP addresses offered to the client.

D. IP addresses of all DHCP servers.

Correct Answer: C

QUESTION 2

Which bit pattern represents a subnet mask of 255.255.240.0?
A 11111212.12121211.11111111.00000000
B.11111111.111121111.11110000.00000000
C.111112111.121112111.11000000.00000000
D.11111111.11111111.00000000.00000000

Correct Answer: B

QUESTION 3

Which of the following is TRUE regarding Ethernet half-duplex transmission?
A. Half-duplex transmission is less efficient because the frame MTU is smaller.
B. An end-station connected to a hub will always be half-duplex.

C. Ethernet switches only support half-duplex transmission.

D. All of the above.

Correct Answer: B

QUESTION 4
Which of the following statements about SDPs is FALSE?
A. The same SDP ID can be used on multiple routers.

B. Each service requires a unique SDP.
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C. SDPs are not configured on P routers.
D. SDPs are not configured on CE devices.

Correct Answer: D

QUESTION 5

If a customer requires a multipoint layer 2 VPN service between three or more locations which VPN service is best
suited for this customer?

A. Virtual Private Wire Service

B. Virtual Private LAN Service

C. Virtual Private Routed Networks
D. Virtual Private Dark Fibre Service

Correct Answer: B
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